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1.1 What is ‘A’ in the following reaction?
H,—CH==CH,

+ HCl— A

H,—CH—CH, H,—CH,—CH,—Cl
cl
(@) (®)
1=
HZAiH—CHJ "H—CH,—CH,
1
() (d)

1.2 Which of the carbon atoms present in the molecule given below are asymmetric?
HO__ I_I;(}I:IE 20
C —C
H OH
(@)1,2,3,4(b)2,3(c)1,4(d)1,2,3
1.3 Sy1 reaction of alkyl halides lead to
(a) Retention of configuration (b) Racemisation (c) Inversion of configuration
(d) None of these
1.4 Chloropicrin is formed by the reaction of-
(a) Steam on carbon tetrachloride (b) nitric acid on chlorobenzene
(c) chlorine on picric acid (d) nitric acid on chloroform
1.5 Fittig reaction can be used to prepare-
(a) Toluene (b) Acetophenone (c) Diphenyl (d) Chlorobenzene

1.6 CH3;Mgl reacts with CH;0CH; to form-
a) Alcohol b) No product c) Water d) Ester



1.7 Identify the end product (C) in the following sequence:

50C1, KCN (alc.)
C;Hs;OH m} A - —>

g ZH O

(@) C,HsCH,NH,  (b) C,HsCONH,
(¢) C,HsCOOH (d) C;H:NH, + HCOOH
18

CH3CH,CH,CI ale. KOH | HBr

B >

C Mafether D

In the above reaction, the product “D” is-

(a) Propane (b) 2, 3-Dimethylbutane (c) Hexane (d) Allyl bromide

1.9 Grignard reagent (CHs;MgX) on treatment with CH;CH,CH,C**OOH-
a) CH;D b) C**H, c) CH, d) Both b and ¢

1.10 In the following sequence of reactions:

o !
CpHBr 8, x Reduction |y, y 44

(a) n-propylamine (b) isopropylamine (c) ethylamine (d) ethylmethylamine
1.11 CH;MgBr on treatment with *CO, generates-

a) CH;COOH b) CH;*COOH c¢) **CH;*COOH d) **CH;COOH

1.12 CH;Mgl reacts with CH;COCI, followed by hydrolysis to form-

a) 3° Alcohol b) 2° Alcohol c) Water d) 1° Alcohol

1.13 CH;Mgl reacts with CH3;CH,CN, followed by hydrolysis to form-

a) (CH3)3COH b) CH3;CH, (CH3),COH c¢) CH3CH,0OH d) (CH3),CHOH

1.14 Identify X and Y in the following sequence

C;H; Br —X5 Product —— C;H;NH,

(@) X=KCN, Y = LiAlH4 (b) X = KCN, Y = H;0" (c) X = CH4Cl, Y = AICl;, HCI
(d) X= CH3NH2, Y= [HNOz]
1.15 Identify Z in the following series:

HBr ag. KOH
&

CH; = CH; » X ¥
Na,CO,
e I; excess zZ
(a) CoHsl
(b) C,HsOH
(c) CHI;
(d) CHsCHO
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